
 

 
 
 

 
 
 
 

 
 

miuahz;Lj;Nju;T 2022Æ2023 
 

             jkpo; - Mz;L 10 
 

 

 
 

 

Gyd;nkhopj; Nju;T 
 

Nfl;lYk; tpsq;fpf;nfhs;SjYk; 
 

m - gFjp 

xypapWntl;by; xypf;fg;ngWk; ciug;gFjpiaf; Nfl;L> tpsq;fpf; nfhz;L> 
fPo;f;fhZk; $w;Wfs; rupahapd;  vdTk; gpioahapd; vdTk; 
milahskpLf.                                                                                                       

 

1. mwptpay; vkJ tho;it Nkk;gLj;JfpwJ.   
 

 

 

2. 18Mk; Áw;whz;bd; gpd;du; mwptpay; Jiw Ntfkhf  
  tsu;r;rpailaj; njhlq;fpaJ. 
 

3. gz;ilj;jkpou; Kjyhk; Áw;whz;bw;F Kd;dNu mwptpaypy;  
  Nkk;gl;bUe;jdu;.  
 

 

  

4. jkpo; vOj;Jfisf; Fwpy;> neby; vd tFg;gjw;Fg; nghwpfs;  
  gad;gLj;jg;gl;ld. 
 
 

   

5. jkpou; ,aw;if kUj;Jtk; rhu;e;j mwpTngw;wpUe;jdu;. 
  
 

 

 

6.   Neha;f;fhd fhuzq;fSs; czTk; xd;whFk;.  

 
 

7. INuhg;gpau; fhyj;jpy; Xiyr;Rtbfs; mr;R tbtpw;F  
  khw;wg;gl;ld. 
 

 

 

8. jkpouJ kUj;Jtk; rhu;e;j Xiyr;Rtbfs; INuhg;gpauhy;  
  ifg;gw;wg;gl;ld. 
 

 

 

ngau;: 

 

; 

 

 

(8 x  ½  = 4 Gs;spfs;) 



 

  

M - gFjp 
 

 xypapWntl;by; xypf;fg;ngWk; ciuahlw;gFjpiaf; Nfl;L> tpsq;fpf; 
nfhz;L fPo;f;fhZk; tpdhf;fSf;F tpil vOJf.   

 

1. jkpo;g;gs;spapy; vjidg;gw;wpg; gbj;jjhff; $wg;ngw;wJ? 
 

     ___________________________________________________________ 

2. gz;ilj; jkpou; vtw;wpd; ,Ug;gplq;fs; gw;wpAk; efu;Tfs; gw;wpAk;      
  mwpe;jpUe;jdu;? 
 

     ___________________________________________________________ 

3. vkJ Kd;Ndhu;fs; fz;Lgpbj;j mwptpay; EZf;fq;fs;  
  mope;jikf;fhd fhuzq;fSs; xd;wpid vOJf. 
 
 

     ___________________________________________________________ 

4. gz;ilj;jkpouJ mwptpay; EZf;fq;fSs; vQ;rpatw;iw mwptjw;fhd  
  topfSs; xd;wpid vOJf. 
 
 

     ___________________________________________________________ 

5. 'Rod;Wk; Vu; gpd;dJ cyfk;…." vd;W $wpatu; ahu;? 
 

 

     ___________________________________________________________ 

 

6. jkpo;g;gs;spapy; gbj;jtw;iwg; gfpu;e;Jnfhz;ltu; ahu;? 

 
     ___________________________________________________________ 

                                                 

 

 

 

 

 

 

 

(6 x  1  = 6 Gs;spfs;) 


